500ha 200ha 300ha
66 20
7.8km
2,975
14 15
578
17 389 33
35 41 52
88 72
60 44
17 53 44
60 54
10ha
25 17 34
10ha
46
46 19
16 38 19
20




ha 15ha

10

15 10

113

150ha
ha 153ha
20
19
11
20
117
20
115
19 6,181

130ha

102mm/

110

110

ha 31lha
80ha 61ha
115

109mm/

113

6,107

115




4,410
6,498

1.47




500ha

7.8km
2,975
14
15
4,410
40 47

6,498
= 1.47

20
2,790 436 409 2,817
1,349 237 205 1,381
4,139 673 614 4,198
211 39 38 212
211 39 38 212
4,139 211 712 652 4,410




207

125

84

11

11

226




H 8| 0.6246(-12 62 62| 0.0% 0 0 0 0
H 9| 0.6496(-11 62 62| 0.0% 0 0 0 0
H10| 0.6756(-10 62 62| 0.0% 0 0 0 0
H11| 0.7026(- 9 62 62| 0.0% 0 62 89 145
H12| 0.7307|- 8 62 62| 24.1% 15 77 106 180
H13| 0.7599|- 7 62 62| 58.6% 37 99 130 230
H14| 0.7903(- 6 62 62(100.0% 62 125 158 286
H15| 0.8219(- 5 62 62(100.0% 62 125 152 275
H16| 0.8548(- 4 62 62(100.0% 62 125 146 264

10|{H17| 0.8890|- 3 62 62(100.0% 62 125 140 254

11|H18| 0.9246|- 2 62 62(100.0% 62 125 135 244

12|H19| 0.9615|- 1 62 62(100.0% 62 125 130 235

13|H20| 1.0000| O 62 62(100.0% 62 125 125 226

14|H21| 1.0400| 1 62 62(100.0% 62 125 120 217

15|H22| 1.0816| 2 62 62(100.0% 62 125 115 209

16|H23| 1.1249| 3 62 62(100.0% 62 125 111 201

17|H24| 1.1699| 4 62 62(100.0% 62 125 107 193

47 [H54| 3.7943| 34 62 62(100.0% 62 125 33 60

T | 3,605/ ¢l 6,498




